
ARMY PUBLIC SCHOOL, DHAULA KUAN 
PRIMARY WING 

                                                                     WORKSHEET                                       SUBJECT:  MATHS 

                                                                 CLASS: III        2014-2015 

1. Fill in the blanks : 

             a )   700 – 200 =_____________                              g) 8005 - ___________   = 7995  
             b)  600 – 100  = _____________                              h) 284 -  ___________   = 0 
             c)  1000 -  ___________  = 1000                              i) 8000 - ___________   = 7999                
             d)  1250 +  __________  =1251                                j) 3290 - ___________   = 3190 
             e) What should be added to 983 to make   it to 990?  ______________ 
             f) The difference between the smallest and the greatest three digit number is 
                  ____________ 
 

2. Which number makes this sentence true? 
4000 –     200 =   ____________ 

                  a)3800              b) 3790                  c) 4200               d) 3820 

 3.   Fill in the missing number: 

        4    3    __   6                                6   __    7   1                                        __   3   __    2 

             -  2   __    1    5                           -   __   2   __   8                                  -     6    __   2      9 
             ____________                           ____________                                     _____________ 

        __   1   __    5                                4     5    3    __                                      1     4    3    __ 
       ____________                          ___________                                        ____________ 
 

4.    Solve: 

a.   4403  +   2857  -  3179   
b. 1634   -    885     +  925 
c. 5331    -  2333   +  2168 
d. 1486   +  1234   -   180 

 
5 .    Find the sum of 1984   and   239 and subtract from   3000. 
  
6 .     Solve and check the answer: 
a)  3964  from  4000                                  d)  398  from  1236  
b) 1284  from 7629                                    e)  3914 from  4528 
c) 2050  from  8934 
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7 . Match the following : 

1)  294  -  194                                                          a)  20 
2)  1324 -  10                                                           b) 1314 
3) 1000  -   980                                                       c)  5030 
4) 5060  -  30                                                           d) 100 

 

                                                  Problem Solving 

 

Q1.   Subtract the difference of   1214 and 1700   from   3980. 

  

Q2. There are   1085 mango trees and   852 apple trees in a garden. How many trees are 
left if   595 trees are destroyed by wind? 

 

Q3. In a school the students planted 2515 trees in 1985 and 2876 trees in 1986. In 
which year did the students plant more trees and by how many? 

 

Q4. There are 3257 cows, 4809 buffaloes and   1283 other cattle in a village. How many 
total cattle are there in the village?     
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